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In child development this stage is called as "Teen age"

> wnhoE

Late Childhood
Adulthood
Pubescent

Early Adolescence
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Number of processes that cause development in infants proceeds
internally and on one day suddenly appears visually— Developmental
principle involved in this is.

1.

2
3.
4

Development is cumulative
Development proceeds from general to specific
Development proceeds in definite direction

Development is an interaction
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One of the following is not the element of personality

1 Health of a person

2 Academic achievement of a person
3. Observation of a person
4

School through which person acquires education
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The Piagets cognitive stage in which searching process starts in the
child to find his mother when she was not seen.

1 Pre-operational stage
2 Sensory —motor stage
3. Concrete operational stage
4

Formal operational stage
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Ramesh wants to eat the fruit that is on the tree but fears that he may
fell down if he climbs the tree - the conflict here is

1 Approach - Avoidance

2 Avoidance - Avoidance
3. Approach — Approach
4

Dual Approach - Avoidance
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A woman and a man thought of marrying, but their elders have not
agreed for their marriage as their castes are different. Here the
obstacle faced by them is.

1 Physical environmental

2 Social environmental

3. Physical

4 Mental
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An issue or an activity that a person feels as very important
experience - is his

1 Attitude
2 Interest
3. Aptitude
4 Creativity
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A teacher wants to find out the relation between the time spent by
the children to study and the marks they secured. But due to
differences in concentration of the children he is not able to get
correct result - Here concentration of children is.

1 Dependent variable

2 Independent variable
3. Intervening variable
4

Experimental variable
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10.

According to this theory of intelligence a person who is having good
intelligence in Science can also have the same intelligence in other
fields such as Mathematics, Language, Social, Arts and Music also.

1 Group factor theory

2 Multi factor theory

3. Two-factor theory

4 Unifactor theory
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A girl who is preparing for a Medical entrance imagines that she had
became a doctor, got a good practice and earning lot of money -
Defense mechanism adopted by the girl.

1 Fantasy
2 Identification
3. Compensation
4

Rationalization
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11.

12.

One of the following statement is wrong according to Noam

Chomsky.

1. Children possess language learning ability by birth

2. Children learn language only through observation & imitation
3. Universal language faculty is present in every person

4, Language structures get imprinted in the minds of the

children.
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Psycho Social Development theory was proposed by

1
2
3.
4

Sigmond Freud
Erickson
Bandura

B.F. Skinner
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13.

"When a modifiable connection between situation and response is
formed and is followed by satisfying state of affairs, that connection
strengthens”. This belongs to this law,

1.

2
3.
4

Law of readiness
Law of effect
Law of exercise

Law of multiple response
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14.

15.

As teachers punished Pavan without reason, he developed fear of
teachers. Later Pavan joined in another school, where teachers never
punished him. Gradually his fear of teachers disappeared. This is due

to

1
2
3.
4

Discontinuation of negative reinforcement
Spontaneous recovery
Higher order conditioning

Generalisation
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In operant conditioning.

1
2
3.
4

Stimulus is more important
Response to stimulus is more important
Role of learner is active

Reinforcement is not necessary
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16.

17.

Ramu watched the action of an actor in a Cinema and started
behaving similarly in real life. This is

1
2
3.
4

Collaborative learning
Trial and error learning
Cooperartive learning

Observational learning
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A person who learnt to speak the word 'walk' want to learn to speak
the word 'Talk'. Now the transfer of learning will be.

1
2
3.
4

Positive transfer
Negative transfer
Zero transfer

Bilateral transfer
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18.

19.

Even though Avinash doesn't understand Hindi, he can accurately

write answer to questions in Hindi.

The memory of Avinash is :

1
2
3.
4
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Short term memory
Sensory memory
Rote memory

Abnormal memory
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Tachistoscope is used to assess

1
2
3.
4

Heart beat
Attitude
Memory span

Visual acuity
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20.

21.

According to ‘Maslov's theory of Hierarchy of needs’, immediately
after satisfaction of physiological need, the person tries to satisfy

1
2
3.
4

Esteem need
Safety need
Self actualisation need

Love and belongingness need
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The theory of identical elements was proposed by

1
2
3.
4

W.C. Bagley
Charles Judd
E.L. Thorndike

Gestaltists
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22,

23.

In Vygotsky theory the following aspect of development gets

neglected.

1 Social

2 Cultural
3. Biological
4 Linguistic
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The problematic condition due to involuntary movements of legs,
hands, shoulders, mouth and other parts is.

1
2
3.
4

Atoxia
Spasticity
Ethitosis
Rigidity
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24,

25.

A student habituated to drugs - The counseling procedure adopted to
assist and encourage the student to analyse and to solve the issue by

himself is:

1 Directive counselling

2 Non-Directive counselling
3. Eclictic counselling

4 Mixed counselling
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Last step in collaborative learning approach.

1
2
3.
4

Feedback
Assessment
Reaching the goal

Identification of problem
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Occurrence of a solution suddenly without any source for a problem
is explained in Bruner's theory of instruction as,

1 Iconic method

2 Analytical thinking
3. Intuitive thinking
4

Enactive method
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The main aim of recapitulation in Herbartian steps is.

1 Testing previous knowledge.

2 Strengthening of concepts already learnt.
3. Introduction of concepts to be learnt.
4

Linking of previous and present concepts.
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28.

29.

The type of leadership that provides equal opportunities to all the
students and assists them to share their experience is.

1
2
3.
4

Authoritarian leadership
Laissez faire leadership
Permissive leadership

Participatory leadership
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As per CCE, the teacher who is responsible to teach work experience
and computer education.

1
2
3.
4

Mathematics teacher
Science teacher
Language teacher

Social studies teacher
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This section of RTE Act-2009 prohibits the physical punishment and
mental torture of children.

1 Section 19
2 Section 18
3. Section 17
4 Section 16
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61.

62.

63.

64.

English — Paper —I1 — Set - 7

A man from the village married her.
The correct passive form for the sentence is:

1. She was married a man from the village.

2 She was married to a man from the village.

3. She is married to a man from the village.

4 She had been married to a man from the village.

Sheisin her final yearat .............. school.
The correct article in the blank is:

1. a

2 an

3. the

4 No article is needed.

Kamala, her eldest daughter, a widow, got up reluctantly.

The underlined part is:

1. a noun clause

2. an adverbial phrase
3. a verbal phrase
4,

a noun phrase in apposition
The correct idiom among the four is.
Thorn in flesh

Thorn in body

Thorn in foot

> W o

Thorn in chest



65.

66.

67.

68.

Man did not weave the web of life.
The correct passive voice for the sentence is:

1. The web of life is not woven by man.

2 The web of life was not woven by man.

3. The web of life is not being woven by man.
4 The web of life has not been woven by man.

Science had already made ............ Impression on him.
The correct article in the blank is :

1 a
2 the
3. an
4

No article is needed.

The adjectival clauses are also called

1. the noun clauses.

2 the adverbial clauses.

3. the non defining relative clauses.
4 the defining relative clauses.

Theship ............. after sounding a loud horn.
The correct phrasal verb in the blank is:

1. set down
2 set off
3. set out
4 set for



69.

70.

71.

If I had not worn my cloth of gold surcoat in battle like a fool ......

The correct main clause in the blank is:

1.

that Burgundian soldier would never pull me back words off
my horse.

that Burgundian soldier will never pull me backwards off my
horse.

that Burgundian soldier would never have pulled me
backwards off my horse.

that Burgundian soldier never pulls me backwards off my
horse.

The complex sentence among the four is:

1.

2
3.
4

In life, everyman has turn obligations.
| was not born with a hunger to be free.
I knew that the oppressor must be liberated.

Freedom is indivisible.

The Headmaster said to Swami, "Why didn’t you come to school
yesterday?"

The correct reported speech for the above sentence is

1.

The Headmaster asked Swami why he not came to school the
previous day.

The Headmaster asked Swami why he had not come to school
the previous day.

The Headmaster asked that he had not come to school the
previous day.

The Headmaster told why he had not come to school the
previous day.



72.

73.

74.

75.

The lake connects these cities.
The correct question for the statement is:

1. Do the lake connect these cities?
2 Is the lake connects these cities?
3. Has the lake connects these cities?
4 Does the lake connect these cities?

His advice ........ young scientists was to look at the world.
The correct preposition in the blank is.

1. for
2 by
3. to

4 with

India is one of the fastest developing countries in the world.
The correct comparative degree for the sentence is:

No other country in the world is as fast developing as India.

2. India is faster developing than many other countries in the
world.

3. India is more fast developing than any other country in the
world.

4, India is the most fast developing than most other countries in
the world.

Mr. Bumble walked on with long strides.
The underlined part is:

1. an adjective

2 an adverb

3. a preposition
4

a noun



76.

77.

78.

79.

The master aimed a blow ......... Oliver's head with the ladle.

The correct preposition in the blank is:

1
2
3.
4

on
by
at

from

Swami said, "I am speaking the truth, Sir."

The correct indirect speech for the sentence is:

1.

2
3.
4

Swami told respectfully that he was speaking the truth.
Swami replied respectfully that he was speaking the truth.
Swami has respectfully said that he was speaking the truth.

Swami had told respectfully that he was speaking the truth.

The correct question tag for the sentence "This is sad." is

1.

2
3.
4

is this ?
isn't this?
is it?

isn't it?

The proper subscription for all personal letters is:

1.

2
3.
4

Yours truly
Yours sincerely
Yours lovingly

Yours obediently



[ 80— 82]

80.

81.

82.

Read the following passage and choose the correct answers to
the questions given after

English, like any other language is easy to learn with use,
especially when it is at a young age. But the use entails a
natural exposure of the child to the language. In India English
learning and fluency would be possible only when at home
and at school, the child is exposed to the use of the language
when such conditions prevail, the child picks up fluency as
well as the unconscious use of the language. In fact, there is
no psychological differentiation between English as a foreign
language and other languages spoken in India.

The passage is about.

The acquisition of the English language in the world.
The acquisition of the English language in India.

The Psychological differentiation between English as a
foreign language and other languages spoken in India.

The unfavourable conditions prevailing in India for the
acquisition of English.

The writer feels that.

English is a difficult language to learn.

A child learns English when he / she is exposed to the
language at school.

English learning and fluency is possible only when a child is
exposed to it at school and home.

Unconscious use of the English language is impossible in
India.

The word that is used in the sense of 'involve' in the passage is

1.

2
3.
4

expose
prevail
entail

use



83.

84.

85.

86.

Read the following four parts of a sentence.

a.
b.

C.
d.

you cause a shortage of water and a change of rain fall patterns
the forested mountains were the source of water and the source of
rain

and therefore people are not able to get food and water

so when you deforest

The correct order of the sentence should be:

1.

2
3.
4

bdac
acdb
cdba
abcd

Many times they will resort to copy the homework.

The underlined part can be corrected as:

1.

2.
3.
4.

copied
copies
copying
have copied

We use rising intonation in:

1.

2
3.
4

ordinary statements
'wh' questions
commands

yes / no questions

Word formation in English involves the following procedure.

1.

2
3.
4

Affixation
Compounding
Blending

All the above



87.

88.

89.

90.

Knowing a language means, acquiring

1.

2
3.
4

A prescriptive approach to grammar is not necessary while writing

1
2
3.
4

grammatical competence
communicative competence
language proficiency

All the above

a formal document
a cover letter for a job application
an email to your boss

a novel

The following has a short vowel phoneme:

1.

W

too
saw
father

sit

Choose the word that has a stress:

A WD

object
should
were

them



91.

92.

The Non-Alignment Movement (NAM) emerged in this conference

1 Bandung conference -1955
2 Belgrade conference - 1961
3. Cairo conference - 1964

4 Namibia conference - 1974
)T EFH0 ©IFI0DS V52 A8
1. 2POCHOR 95 - 1955
BORE 065y - 1961

38° desv0y - 1964

Lol

SNDAsT ReS0) - 1974

In order to achieve Germany unity,
The "policy of blood and Iron" was followed by

1 Bismark

2 Frederick - VI

3. William - |

4 Napoleon - |

2353 D3EBE FHOTITAE TEFS T’ ©JVE0DIT
1. i)b"&gz)_

2. (%05 - VII
3. Adasvo - |
4. IPOHS



93.

94.

The economist who suggested that 'the effective intervention of the
government is required to meet the situation of economic depression
was.

1 Adam Smith
2 Marshall

3. J.M. Keans
4 Karl Marx

Q8 SromrgR) A8 SIS (PLSSOSH, (Hubes £°5g0
OIDEH WPDOVS 98 I,

1. eﬁc‘éga?o&eg
2. =65

3. IM.SJ

4. 555 578

'‘Long march' was led by

1 Chiang Kai shek

2 Mao zedong

3. Ho-Chi-minh

4 Jing - ping

ool 58)3 TOEHKO STONS T
1. DosroR 3 0§

2. 53° BroR
3. 5550 ibgn
4. 208 DoR



95.

96.

Minister, Government official, small farmer, ordinary citizen,
everyone is under the same law. It means

1 Social equality

2 Equality of opportunity

3. Equal protection of law

4 Abolition of untouchability

$00(@, [BWHEYOTE, DY) P, PRIy T, PO 25,08 2.3
380 ST, b

1. IR SIPIE0

OSSN RITBS0

Se385e2S° RITSES50
e

N

ea:@ol)%’geﬁ QrBes

Right to Education was made a part of 'Right to live' in this year.
Qe B0 W) 'S erriore DS oSS0

1. 2001
2. 2002
3. 2003
4. 2004



97.

98.

The parliament passed the 'Right of children to free and compulsory
education act' in order to ensure that all children get quality
education in the year.

DYOOEBS FeagRS DTy WOBE WGP “GDS AGYOES (B
D e T8 &R SRR FTI00en B1S VOSBY50.

1. 2007
2. 2008
3. 2009
4. 2010

According to National Standard norms, the people who live in rural
and urban areas are required to have the food that gives the
following K. Cal of energy

1 Rural 2400 and Urban 2100 K. Cal
2 Rural 2100 and Urban 2400 K. Cal
3. Rural 2300 and Urban 2100 K. Cal
4 Rural 2100 and Urban 2300 K. Cal

¥ HBA0 Hes (Frocred” k0D 308 3Y) §Svede ¥

93) SD0 (3G ©IVTH B Fowd® (FSredsor
K)cgaoa"d).

L %8 2,400 50005 H&eso 2,100 85 s"0den
%8 2,100 30850 $&es0 2,400 85 s"0den
%8 2,300 $8c50 H¢e0 2,100 85 s0ben

Lol

%8 2,100 308050 H&es0 2,300 85 08w



99.  The construction of Qutub Minar was completed by this ruler

1 [ltutmish

2 Qutubuddin Aibak

3. Shahjahan

4 Akbar

$e0d W8 550 I8 VOFOI Se0S” FrYood
1. 3SeTeS W

§Je§3w§5— 02§
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100. The odd one among the following is
1 Musi
2 Dindi
3. Thungabhadra
4 Chitravathi

308 IS DPFS A K030,

L S

2 &oé

3. &HoXHS
4. QeSS



101. The Capital city of Andhra Sathavahana's was
1 Vijayanagaram
2 Dhanyakatakam
3. Pataliputram
4 Dwarasamudram
e30(F PBITI00 T°BE°R
1. BWANSIKEO
2 CS°<‘55§éo§o
3. Fedygo
4 C(E0H0(E0

102. The Tribe that does not belong to Andhra Pradesh State

1. Savara

2 Gond

3. Chenchu
4 Khashi

e30(FPTT TPLIS o AdeS BK

1. D38
2. Ko

(qp]
3. DO
4, 8



103.

104.

The retired British official who played an important role in
establishing the Indian National Congress was.

1. Curzon

2 A.O. Hume
3. Mc — aley
4 R.C. Dutt

HED DBHoes DD S QB 0O PSS D iR
ﬁg&oééoé’s PITE S3r0Tedd

L 58S

2. ASEoER0
3. 53

4, e36.2.58

The first agitation taken up by Mahatma Ghandi in India was
1. Kaira protect movement

2. Satyagraha against Rowlatt Act

3. Ahmedabad textile workers agitation

4. Champaran campaign

oGy ToQ ESBIS” TGS FO oSS,
1. Po° 5§@8§ &035590

TS S S8V varEo

@XS"&CS’&T’S e 0D B0y
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105. Match the following
) River Indus a) Lohit
i) River Godavari b) Sutlej
iii)  River Brahmaputra C) Sabari
1 i—b, ii—a, iii-c
2 i—b, ii—c, iii-a
3. i—c, ii—a, iii-b
4 i—a, ii—Db,iii-c
208 28I 23¢53 TS0
i) OGS a) SuS
i) Aorsesd b)  BE
iii) @3?&&‘@@"5& C) F208
1. i—b, ii—a, iii-c
2 i—b, ii—c, iii-a
3. i—c, ii—a, iii-b
4 i—a, ii—b,iii-c

106. The powers given to Indian President are more similar to the powers
of,

1. The king / queen of Britain

2 The President of North Korea

3. The President of America

4 The German Chancellor

OIS 0P QDD ©OTY DO B B FoHY F'orS” PN,
1. Ders ooes/ovel

2. &EUFECI ergH

3. 0O eac‘éaggoc‘és

4. =8 NS



107.

108.

The mismatched pair is

1. Jharkhand - Santhal Revolt

2 Uttarakhand - Forest revolt in Kumavoo
3. Komaram Bheem - Jal, Jangal, Jameen

4 Birsa Munda - Adilabad, Sankepally

2808 FIS° HOT @B KYoS0s.

1. wgoc’::- DoOSPS BRI
&EETPOE - DI ABKETEN
55090 - 185, moKS, Bs

L

HovyS00E - esOerers, $0858

'Dictatorship of the proletariat' is not established in this country,

1 USSR

2 China

3. India

4 Vietnam and Cuba

(FWE ALOSB0 $08 orada Sgges DEYED B0
L O50.0.8.e38

2. B

3. Aot Tak: (o)

4. Z.)oﬁoeygo, §5°§ao">



109. The main reason for not getting the minimum required calorie food
by the rural people is,

1. Iliteracy

2. Lack of power to purchase

3. Lack of health awareness

4, Having superstitions

(Paes (Paen SS50dI0s TodeldB) esdtord) Foudy FIads,
@S 5°8E30.

1. K)Cigcr"é?seﬁ
FoRen ¥8 BEFsE0
eaSGKZS QY BEPFsco

Lol
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110. Meira Paibi movement was started in this state

1. Assam

2. Manipur

3. Arunachal Pradesh
4, Meghalaya

207D &850 s 0708 IoE5Pod.
1

6:9@‘:)0
2. 308358
3. eotersd (P3F
4. PorocD



111. Latin American countries are

1. Central American countries under the control of England and
Spain

2. South American Countries under the control of France and
Portugal

3. Central and South American brought under the control of

England and France

4. Central and South American countries under the control of
Spain and Portugal

o3 9RO BTOST

L 30408, )00 eh30S” &Y) My $0s B
) FENYKS es8308° &) 5§ YOS BFen
9050&, (i) eb508” &) He, $ies $0S Baen

L
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112. The Tribe that belongs to Odissa State,

1. Muria
2. Bhil

3. Savara
4, Kolam

808 b8’ 2&X TS TSI,

1. S0BAST
2. S

3. PNt

4. §°oro



113. The first Chief Minister of Hyderabad state was

114.

1.

2
3.
4

Osman Ali Khan

Burgula Rama Krishna Rao
Mohmmad Alikhan

Vishnuru Ramachadra Reddy

TE0erd TR I Sogold

1.

L

& &5 PR
20 )© U°;53§°>§;G°;§)
SSJZP&S 0dgrS
/TN TS0

The Number of members in Indian Constituent Assembly was

B8 oagoK PIAON SRV

1.

W N

399
356
299
369



115. A false statement regarding South West monsoon is

1. These winds come from the Arabian sea and flow towards
Bay of Bengal.

These winds blow only in summer

They enter into Kerala and Andhra Pradesh in the beginning
of June

4. These winds come from Bay of Bengal, blow towards
Arabian sea

F20008 2000EVITOE D000 VOSCAR.

1L ODAT DS0EO $0& SHT 0TS0 EONT
DRI

2. V500" SR Dromw.

3. S5¥ eo@Rase 8 e B ($R8To».

4. 2OMrTPS0 o0& ST @BNAIT HI0(EO WEOA®
DRI

116. This is not the role of Government officials
1. Contest in elections

2. Implementation of laws

3. Accountable to the Government
4. Accountable to the public
BSOS HO F(E 5B,

L Jses” 2 Sabeo.

e WD VEWEO.

(IS ereiges Syrosco.
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117.

Magadha had emerged as very powerful
Mahajanapadas because.

A

O W

> o np e

Maghadha was closure to the forest
River Ganga and fertile lands
It has Iron ore deposits

It was nearer to the sea

Only Aand B
A B, D
A B,C
All the above

Kingdom among

DIESHTOS” HKEG DI CoEgor INEEIS S0,

A

B
C.
D
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A B oo SrED

A B, D

A B,C
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118. The similarity among the places Budagavi, Vemba Khandriga,
Chintakunta, Kethavaram and Tenagala

1. Coastal regions

2. Ancient port cities

3. Ancient stone art sites
4,

River valley regions

“Q3SK, I02> POIGK, DOBK0e, TESK0, BSKL”
B8 (FOCO TGS

1L &5 (rogren

2. (S BY) DégeTen

3. IS 078 SEY® FSoen
4. 3886 Progren

119. The book 'Planned economy of India’ was written by
1. Jawaharlal Nehru
2 M.N. Roy
3. S.N. Agarwal
4

Mokshagundam Visweswaraiah

TR A e godasr” (Planned economy of India)
RS B50es
1

25508 e I
2. A0.A.0°0%0
3. RIN.eKoRS
4. Irg0s0 3%{36&35



120. The term ' bio diversity' was coined by
1. Walter Rosen

2 Walter Rojar
3. Walter Roland
4 Walter Rojak

"BIPAEE0” ©F) H) (FEIFBOVS TIIS,

L g6 &9
2. g6 &b
3. g6 &erol
4. 6 &§

121. The first Chairman of Legislative council of Andhra Pradesh
(combined state)

1. Madapati Hanumantha Rao

2. Gottipati Brahmaiah

3. Pidathala Rangareddy

4. A.Chakrapani Yadav

&308 SOPHBE IS DBIS & P
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122.

123.

The ancient Greek political philosopher who compared the state to
be a living body

1. Garner
2. Gettle

3. Leacok
4. Aristotle

ez VBTN Yo FO)S (FOS (S 0°mdd SIS

L s

2. T[S

3. OxF

4, @65{3&35

The case in which judgment has been given that "certain provisions
in the Indian constitution cannot be changed under any
circumstances like the form of the government, federal character,
welfare state etc" is

1. I.C. Golaknath Case

2. Kesavananda Bharathi case
3. Minerva Mills case

4. K.M. Nanavathi case

‘(D] B0, DIFPGOEEI0, VOFS o0 S0 oomgoKoS
SOTON B HOPSOS W VIBOSEAS JBEY” Bth) IS
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124. The number of States and Union Territories in India as per
State Reorganisation Committee - 1956

1. 20 States 6 U.Ts
2 14 States 6 U.Ts
3. 25 States 7 U.Ts
4 28 States 7 U.Ts

FEHotn SIrHODT T PG SgEYESes ¥00-1956
SO trSSBI0S” o e - SoEFOS (Fosre

L 20 oogpew 6 30(GardS (Frocren
2 14 ooGped 6 SoEardS (Froaren
3. 25 ovgpen 7 Bo(BrdS (Frogren
4 28 oogpew 7 Bo(BrOS (Frocren

125. The result of Glorious revolution was

1. The powers of the king were restricted

2 The powers of king were became divine right
3. The power of parliament were restricted

4 Ministers were made responsible to the king

808 IS HFFYS RS $es0

1 O 985070 D0 SK00Irg000.

2. O°2e @9QST0Pe0 QK0 00T 0N.

3. FTI0en ©BSTO HOEIATG0%.
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126. The places which are part of Great Britain
1. Wales, Netherlands, Scotland, Ireland

2. England, Wales, Scotland, Ireland
3. Honover, Netherland, Scotland, England
4, Scotland, England, Wales, Piedmont

RS DS arrRoS (roaren,

L 36 36x0e&), T Serok, agob

2. 30K0&, I8), ) Serol, ngob

3. WSSE, 3ugob), ) Serok, gorob
4. S0k, 30K0E, IE), aryods

127. The aspect not covered under RTE Act- 2009 is

1. No child shall be subjected to physical punishment or mental
harassment.

Eligible candidates alone shall be appointed as teachers.
Child should be enrolled into his age specific class.

Board examination shall be conducted to the children after the
completion of elementary education.

RTE $¢30 2009 §°Q @o0d0 S°8.

1. REAN DYTE FOBEOMT, STSVEOT® 33°0D0TTET.
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128. The person who is not related to Brahma Samaj
1. Devendranath Tagore

2. Keshav Chandra Sen

3. Raja Ram Mohan Ray

4. Swami Dayanada Saraswati

308 TS (@) H3T20S” VOWOFOBIT
L BdoEard ooKrd
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129. The desert located in Southern side of Africa

1. Kalahari desert
2. Sahara desert

3. Sonaran desert

4. Petagonian desert

(S 8 S o 8.
1. 50580 Jd5°0
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130.

131.

Match the following

i)
i)
i)

iv)

i)

Veera saivam a) Guru Nanak
Sufee cult b) Basavanna
Vaggeyakara ¢) Khwaja Moinuddin Chisti
Sikh religion d) Kancharla Gopanna
208 T 238N T0k.
i TS0 a) KoBISE
RSO b) 3:035%)
TRADSBE ) arges® 300000508 DR
DE) S0 d) oSy A5
i-a, ii-d, iii-c, iv-b
i-b, ii-a, iii-c, iv-d
i-b, ii-c, iii-d, iv-a
i-a, ii-d iii-b, iv-c

Sangama literature belongs to this language

1.

2
3.
4

Kannada
Telugu
Malayalam

Tamil

DOK ma&oéoo L3 2°NE BoAIK.

1.
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132. The Ancient book on Surgery
1. Charaka Sambhita

2 Sushrutha Samhita

3. Raja Tarangini

4 Aryabhatiyam

FHDIBH 0020800 (FPOS Kogo.
1. BT HoJees

2. HEDOS HorS
3. oz SEOAER
4. edpidoho

133. Gutenburg of Germany invented

1. Steam engine

2 Printing machine
3. Power loom

4 Spinning Jenney

KrE3S2d &S 58y B¥n SRS
1. €328 dvo(gso

2 So(FeT° aloo(go

3. 08 iS50

4. Sreo SET aBo(sm



134. Telegraph, a part of industrial revolution, was designed by
1. Alexander Bell

2. Philip Reis

3. Samuel Mores

4. Thomas Edison

FOFDE J50S" errFoS BOUTEE ErHE)S DASTH
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205 88

-3";535'35 35'35(\)

~wN

PR AEDS

135. Sarkaria Commission is related to
1. Central State relations

2. Election procedure of Central Government
3. Organization of State Legislative Assembly
4. Formation of State Legislative Council
B0, 005 SRS HAS $020H0NS

L S0, ong, doaogren

2. So@pabd; ¥ S0
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136. Balwant Rai Mehta committee was asked to observe,

1. Reforms relating to education

2 matters related to revenue receipts

3. matters related to district administration

4 failure of the community development programme

2300305@0’3_3 e 563D 9880055 §°85 eo¥Sw

1. DTG DOOEFIS DO, Teaen

2. 63553 SATPENE HOOHPOWS 90D
3. R DOFOIH 0020H0NI WOTe
4. DIr)IND DG Iporge Kok

137. The sector that is called as 'invisible trade' is

1. Electricity sector
2. Education sector
3. Insurance sector
4, Tourism sector
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138. The number of subsectors in "Technology vision -2020" are

e‘:isz)@é DesS - 2020 S &vSomre oy

1. 18
2. 16
3. 17
4. 19



Social methods - 538 - 2 - 26 - 7

139. According to NCF-2005 one of the following theme is not in Social

Sciences

1. Diversity of the Earth

2. Production, utility and lively hood
3. Political systems and Governance
4. Agriculture and animal husbandry

NCF-2005 (p5°80 &owsa(y 383)oed” 826
1. 27 JIES0

&S)8, D0, ASTFTo

oPSasy SESHen, HOFOI

L

;5&5@0‘530, DHV0DES
140. The problem solving capacity of a student who utilizes his
knowledge and understanding in needy situations is known as
1. Application
2. Knowledge
3. Skill
4, Understanding
g T IWER, SIS TRWHY) TR OSOTHS
ROETNOS” &DBrA0D VIIg DB B0 DKo
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141. Formulation of principles by observing, comparing and generalizing
different examples is.

1. Inductive method

2. Deductive method

3. Problem solving method
4. Heuristic method
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142. Child centered teaching method is
1. Lecture method

2. Socialised recitation method
3. Story method
4. Source method
g8 SoBEys S 95
1. eém§b DEH
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143.

144,

The tools that are used to assess the academic standard 'information
skills' among students is.

1. Project reports
2. Oral tests
3. Anecdotes
4.

Questionnaires

RO DIFTE DEGE &S ITYDHITETRY) OO A
EDEB0T JGIen

1 B 0¥

2. S wbFen

3. 3§ c“fé’is

4. PTYI0N

The nature and concepts of Sociology- Educational Sociology -

Social Science are represented through a graph that contains Circles
and inner circles — This type of graph is

1. Pie graphs (circle graph)

2 Pictorial graph

3. Venn graph

4 Bar graph

IR RO - ITFTITEE TR0 - FOWEF(RYOO IS
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145. The marks allotted to slip test in formative assessment
REPER IS ;535°e7°§o§5oe§6 oP D8 (slip test) Seronods

S8
1. 10
2. 20
3. 30
4. 15

146. RTE Act 2009 section 17 (1) is related to

1
2
3.
4

Children should not be abused physically and mentally
Free and compulsory primary education
Providing quality education

Collection of capitation fee

RTE 2009 2% 17(1) &8 502080058

1.
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147. This is a compulsory activity to complete the teaching learning
process



148.

1 Evaluation

2 Informing marks

3. Progress cards

4 Remedial teaching
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The fundamental principle that says that the selection of a project in
project method shall be in such a way that it should inculcate values,
attitudes and aptitudes among the children

1. Principle of reality
2. Principle of objectivity
3. Principle of utility

4, Principle of experience
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149.

150.

Respecting the opinion of the child, freedom of expression comes
under this type of child rights

1.

2
3.
4

Right to live

Right to develop
Right to participate
Right for protection

oo OHTATOM DYOBEO - GrISESes T 30
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1.

2
3.
4

20T To%),
DDIND T,
RG] S5,
858 oK),

The reason for backwardness of students in learning is.

1.

2
3.
4

Lack of punishment
Lack of opportunity for rote learning
Teaching is not based on the individual differences

Making the students to learn the questions which are at the
end of the lesson only.
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